Pre-Laboratory Questions

m
1. A metal sphere weighing 9.48 g is added to 21.27 mL water in a
graduated cylinder. The water level rises to 24.78 mL. Calculate the
density of the metal. @

2. An empty beaker weighs 32.4557 g. A 10.00 mL sample of unknown
liquid is transferred to the beaker. The total mass of the beaker and

liquid sample was 39.4507 g. Calculate the density of the unknown
liquid. <D

.........................................................................................

- A term that is easily confused with density is specific gravity. What is
meant by specific gravity? What are the units of specific gravity?
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Results and Calculation

A. Determination of the Density of Pure Liquid

Pure water Trial (1) Trial (Il)

Mass of beaker 34.4) gl 34.319 g
Mass of beaker + water 4z .eo g| y4.34 g
Mass of water Q.19 g q.49 g
Volume of water 10.p 5 M 10.,0 mL
Temperature of water 4.0 °Cc 149-S °C
Density G -39 gmL| o-945 g/mL
Average density o-F i
Handbook density o 4983 e
Unknown liquid

Unknown Nomber A

Mass of beaker 34.39 g g
ﬁ, of beaker + unknown G4 R g g
Mass of unknown liquid [0-472 9 9]
Volume of unknown liquid 10.0 m mL
Mf unknown liquid |.o4Z g/mL @9/_”5
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B. Density of Solutions

Trial (1) Trial (1))
Mass of beaker

9.3 9 Sl gy 3
\0 o) mL

mL
—
49.45 g

\O-\

Volume of solution

Mass of beaker + solution

Mass of solution
Temperature of solution

Density of solution

C. Density of Solids

Trial (1) Trial (1)
Mass of beaker 3. 40 g g
. . »
Mass of beaker + solig pieces 44 .q2 g g
e e " aecagy W
Mass of solid pieces o Bt g g
Initial water level in the graduated . |
L
cylinder Fo fic 3
Final water leve] in the graduateq L
m
cylinder +5 e
. . \
Volume of solid pieces 5 - mL
. . \‘/
Density of the solig Substance 205  gmL gimL
el <iix) IR, s
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Questions

1. What error would be introduced into the density of the metal pellets if

you had not shaken the pellets to remove adhering air bubbles? Would
the density be too high or too low?

..........................................................................................

2. The density of silver is 10.5 glcm® and the density of platinum is 21.45
glem®. If egygw were transferred to equal
volumes of water in graduated cylinders, which graduated cylinder
would have the highest volume reading? Explain.

S P;\g..,...b.«‘—.’é?.‘:.s.%..:&k...e\s:ni\.\;;....\s...C.r9$,s..pr.eeghi9.t\=.~.5....s—.J.-'.s-h...

...... VTIPS SR 1Y

L‘M('H'V‘:\?j\‘cf"'a"tl.“"" .......................................

D

~An

Scanned with CamScanner



